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Ques: 150

Paper : Social-Science Time: 150 Minutes

Ques # :1

from which of the following sites, the famous bull-seal of indus valley was found?
1) lothal

2) harappa

3) mohan-jo-daro

4) chanhudaro

foet # & e Turer @ Ry O woraT @ W faeaTa qust-agem gred g§ o2
D) Srerer

2) gz

3) ArgeTsies

Y g

Ques # :2

the jain text which contains the biographies of the tirthankaras is known as
1) uvasagadasao

2) adi purana

3) bhagavati sutra

4) kalpasutra

o SieT 7oy 7 et & haa-aRa g, sawra g :
D) Sargereani

2) anferRror

3) sTacigT

4) e

Ques # :3

which one of the following characteristics of buddhism distinguishes it from jainism?
1) rejection of both extreme pleasures and self mortification
2) attitude of non-violence towards all beings
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3) rejection of the authority of the vedas
4) faith in the efficacy of action

areg g i Arafai@d Fdvant & ¥ Fiq @ ve @ St 4o F BT FIAT g 2
D srcaftes ga 3R snenfaars, et & forear

2) st arforat & wfar rfgar i sifdgfea
3) 3t T TedT 1 IENFR

4) s Fr geraierar & fearg

Ques # :4

which of the following pairs is not correctly matched ?
1) (author) (book) kalidasa raghuvansha

2) (author) (book) vishakhadatta dashkumarcharita

3) (author) (book) vishnu sharma panchatantra

4) (author) (book) vatsyayana kamsutra

v # & e goar w gAfdra g € 2
D) (oree) (q5ae) Fiferara Tgaer

2) (or@s) (JEd) faemEeed aRgARaRd

3) (erEe) (TEadh) fasoy T dad

4) (AGF) (TE) AT HIF

Ques # :5

which of the following rulers was known as amitraghata, the 'destroyer of foes'?
1) kanishka

2) chandragupta maurya

3) samudragupta

4) bindusara

farafaf@a & & Flaar arwe JfATETT - 1 A3 FT AT FIA ATl - & AT  STAT ST AT 2
D) wfares

2w A

3) gHgaed

4) RregaR

Ques # :6



which of the following pairs is correctly matched

1) (bhakti saint) (concept) vallabhacharya advaitavada
2) (bhakti saint) (concept) madhvacharya dvaitavada
3) (bhakti saint) (concept) nimbarka vishishtadvaita
4) (bhakti saint) (concept) ramanuja shuddhadvaita

frafRffa d @ slaar gw afi gafaa d 2
D) (s1fea d@a) (Rgia) deasrd scddars
2) (#fea da) (Rrgie) Arearard gdaar

3) (arfar da) (Rigien) Fieard Rfrsereda
1) ofFa @a) (Reia) AT ST ETedd

Ques # :7

choose the sufi silsilah, with which jalaluddin surkh bukhari was associated ?
1) chishti

2) qadiri

3) suharavardi

4) naqshbandi

39 g R 1 gfav, oaw sreredela g ganl #e g a1 ?
D farechr

2) Fwfedy

3) geradt

4) Terereid

Ques # :8

which of the following was the head of the military department in the mughal period ?
1) mirbakshi

2) diwan

3) khansama

4) sadra- us- sudur

frrafaf@a & & sia Ferasre & dfaw Remer #1 sreqar gar ar 2
D #i qarely

2) &rar
3)



Yl HTHAT
AN

Ques # :9

' ain-a-dehsala ' was connected with -
1) judicial system

2) military system

3) religion

4) land revenue system

' HTET-U-CEHTST ' TFE AT -
D s cagear &

2) deg sy A

3 et

4) 97.3ToTET STaTAT d

Ques #:10

the tomb of rabia-ud-daurani was built by :
1) shah jahan

2) aurangzeb

3) akbar

4) humayun

faar-3g-gRrelt & AFa &1 AT SaET =T ar:
1) emgaret gam

2) ARETST garT

3) 37eheR EaRT

4) g g

Ques # :11

who among the following led the 1857 revolution in arrah ?
1) azi mullah khan

2) maulvi ahmadullah

3) kunwar singh

4) bakht khan



frafaf@a & & fraa 3mr & 1857 i wifa w1 Aqea frar ar 2
D) srsfaearat

2) FHterd 3reFESTTE

) ea @

Ques #:12

which of the following pair is not correctly matched ?

1) (president) (session of congress party) mahatma gandhi belgaon (1924)

2) (president) (session of congress party) mrs. annie besant calcutta (1917)

3) (president) (session of congress party) sarojini naidu kakinada (1923)

4) (president) (session of congress party) subhash chandra bose haripura (1938)

TR & & Sl e gafora wét ¥ 2

D) (3rereT) (piara el & 31fRaereT) FeTcaT aifedy Serana (1924)

2) (3rereT) (g urel & rdere) MNAc Teheie FeldedT (1917)
3) (3regeT) (T aref & fAerT) FRISTel A3 HIHIATST (1923)
4) (3reeT) (@iere aTet & rferdere) FamTaes S R (1938)

Ques # :13

at which of the following places national goverment was established during the quit india
movement ? (i) tamluk (ii) satara (iii) faizpur (iv) baliya code:

1) (1), (i1) and (iv)

2) (1), (i1), (i11) and (iv)

3) (i1) and (iv)

4) (i1), (ii1) and (1v)

' R BI8T ATl & R AFfaf@d & & fFe TIEY I TSET GIFR TR 1 718 412 (i)
AT (i) FART (iii) Wor9x (iv) Iforam Fe:

D (i), (i) @& (iv)

2) (i), (ii), (iii) T4 (iv)

3) (i) TG (iv)

4) (i), (iii) T (iv)

Ques # :14



when the 'direct action' was started by muslim league ?
1) 16 august, 1945

2) 9 august, 1946

3) 18 august, 1946

4) 16 august, 1946

HITerH ofleT @R ' YogaT FIEATE) ' i TRE Y 75 ot 2
D) 16 3rrea, 1945
2) 9 379TEd, 1946
3) 18 319TEd, 1946
4) 16 3719TEd, 1946

Ques # :15

consider the following events: (i) gandhi - irvin pact (ii) surat split (iii)chauri -chaura tragedy (iv)
dandi march choose the correct chronological sequence of these events -

D) (1), (1), (ii1), (iv)
2) (1), (ii1), (1v), (1)
3) (i), (1), (i1), (iv)
4) (iv), (11), (1), (111)

frrafaf@a geamat w R Afad : (i) 7 - s wwstar i) w3 fsree i) -2k #1s
(iv) GTSY ATAT $oT TSATHY T Wl FIATIHH AT -

1) (i), (i), (iii), (iv)

2) (i), (iid), (iv), (i)

3) (iii), (i), (ii), (iv)

4) (iv), (i), (i), (iii)

Ques #:16

the incidence of ' bloody sunday ' took place in :
1) georgia

2) moscow

3) saint pittsburg

4) paris

' Gt AR+ Y wea ufed g% ot :
D) SifSrar &
2) Arer A



3) i dreaest &
) ARE H

Ques #:17

which of the following act, the british prime minister greinwill got approved in 1765 ?
1) stamp act

2) sugar act

3) currency act

4) navigation act

fArfaf@d sl a7 vae g7l & weane 7= dafaer F 1765 §. & qIRT Fa@T AT ?
D) gerg vae

2) PR T

3) i vae

4) AfFereT v

Ques #:18

when did the representatives of third estate declare themselves as ' national assembly ' ?
1) 20 june, 1789
2) 14 july, 1789
3) 27 june, 1789
4) 17 june, 1789

Tt wree & wfafafal & sraer st  Usdi AerweT | Fa ¥ R ar?
1) 20 g1, 1789

2) 14 F[ATS, 1789

3) 27 =1, 1789

4) 17 37, 1789

Ques # :19

where the international court of justice is situated ?
1) geneva

2) hague

3) new york

4) london



HRTET FATTAT Fgl AT & 2
D Serar#

2) gar st

3) wagaités 3

1) TeeT H

Ques # :20

'basalt’ is an example of -
1) sedimentry rock

2) metamorphic rock

3) igneous rock

4) stratified rock

D) 3raaréy O
2) spraiaia e
3) e e
4) Weaer &

Ques # :21

who put forward the idea of " uniform depth with varying density '" while expressing isostasy ?
1) jolly

2) airy

3) pratt

4) bowie

%ﬁ@ﬂﬂ'(isostasy)ﬁmmm"mw*wmﬁrm"ﬂﬁﬂ'ﬂﬁw‘ﬂﬁ'@?
D St

2) ofy

3) g1

4) giay

Ques # :22

according to the census of 2011, average annual growth rate of india's population is :



1) 1.88%
2) 1.64%
3) 1.60%
4y 1.55%

2011 FY FNCTAT & IHHR HRA Y 30T aTf¥F Farorem eI 2
1) 1.88%
2) 1.64%
3) 1.60%
4) 1.55%

Ques # :23

which one of the following vegetation type in not found in rajasthan ?
1) tropical dry

2) tropical throni

3) tropical desert

4) mangrove forest

fArfaf@a & ¥ &l @ v YR Hr gaEafa TTEIFT H AL & 2
D) zwor sy e

2) 3uT e Tl

3) Ut BRI ATEANT

1) Heaa gereata

Ques # :24

the condition of maximum distance between earth and moon is known as :
1) aphelion
2) perihelion
3) apogee

4) perigee

gl T T AT Y TFHAH gl B 3T FEere § -
D 3meik

2) 3uEl

3) 33

4) 35y



Ques # :25

the ' coriolis force' at the equator is :
1) zero

2) medium

3) maximum

4) none of these

' PR3 e R Y a ey -
D) e

2) gegs

3) iR

RACEEE

Ques # :26

the average salinity of oceanic water is -
1) 130 %o

2) 25 %o

3) 225 %o

4) 35 %o

FETATRT & STer Y 3itad Fqorar ¥ -
1) 130 %o
2) 25 %o
3) 225 %o
4) 35 %o

Ques # :27

the progressive wave theory related to origin of tides was propounded by -
1) william whewell

2) sir issac newton

3) dr. . a. harries

4) davis

SAR 1T HT 3cqfed  FFaferd Famst ader f¥gia & yeqd Far & -
D faferasr aaer

2) TSN e

38t IR R



4) afawm

Ques # :28

match the following and select the correct answer using code given below: (local wind) (area) a.
kamsin (i) siberia b. brick-filder (ii) france c¢. buran (iii) victoria (australia) d. mistral (iv) egypt
code:

) abecdd@) @i (iv) (i)
2)abecd(iv) (i) (i) (i)
3)ab cd (iv) (iii) () (i)
4)abcd (i) () (i) (iv)

e 7 gAfaa FY U7 T sean 1 94 A Ru w5 F F - (TR 999) @) 2. @Al
ATEARAT b. FHIEsT B c. T TR @iree o Jd. Bega Ba #is:

1)abcd () (ii) (iv) (i)

2) abcd (iv) (iii) (i) (i)

3)abcd(iv) (iii) (i) (ii)

4) abcd (i) (i) (iii) (iv)

Ques # :29

according to census 2011, which district of rajasthan has the highest rural literacy percentage :
1) sikar

2) dungarpur

3) hanumangarh

4) jhunjhunu

STTITOTAT 2011 F HTAR TSATYUT & [ d FoTel T ATHIOT JIGTRAT HT T FaTfers a1 :

Ques # :30

match the following correctly : (river) (place of origin) a. luni (i) shivalik hills b. chambal (ii)
khamnor hills c. banas (iii) bairath hills d. ban ganga (iv) janapav hills e. ghaggar (v) nag pahar
code:

l)abcde (v) (iv) (i1) (1i1) (1)

2)abcde(v) (i) (1) (11) (iv)



3)abecde () (i) (iii) (iv) (v)
4 abcde (iv) (i) (iii) (i) (v)

faaifdra #1 a8 R @ gAfaa F:A ! @& G@EH T a. qoft () Rarfas Fr ggifzam b, ae=er
(i) TTAAR FY IGISAT ¢. TATH (iii) STS Y IFITAT d. FOT I3 (iv) FATITT Y IBITEAT e. TTER (v)
13T 9813 Fe:

D abecde (v) (iv) (ii) (i) ()

2)abcde (v) (iii) (i) (ii) (iv)

3)abcde (i) (ii) (i) (iv) (v)

4)abcde (iv) (i) (iii) (i) (v)

Ques # :31

in which group of district of rajasthan ' vertisols ' type of soil is found ?
1) kota, bundi, jhalawar, and baran

2) tonk, jaipur, dausa, and dholpur

3) sikar, jhunjhunu, nagaur and churu

4) banswara, dungarpur, udaipur and rajsamand

TSTEYT & BT & Foral & ¥ # aaleq TR AT 7T 915 o1l 82
D) arer, 58, Frermars va art
2) gie, SR, ghar v e
) TR, LT, A &

%) SreaTeT, R, 3EAR Td TAHHT

Ques # :32

consider the following statements and select the correct answer using code given below. a -
temperature is mostly constant in troposphere b - the height of troposphere is higher at equator
than on poles c - the highest amount of dust and water vapour is found in troposphere

1) a and b are correct
2) b and c are correct
3) a and c are correct
4) a, b and ¢ are correct

farafaf@a Fyal W R AA a1 78 3k F1 999 AR R Fs A A | a - alsrrosa &
FrferemTere: araHATeT AT W@ar d ! b - alterwvse i Farg Ryaa Wi yat & sfaF el ! c-
aNeTHUSH H FAIOF AET H e F F0T AR STl AT AT 8 ! Fie:

l)aﬁbﬂﬁ%
2)



b3IR cHETE
3 adiRcadrd
4)a,b3-ﬁTcFl'éT%

Ques # :33

match the following : (steel plants) (location-state) a. raurkela steel plant (i) chattisgarh b. bhilai
steel plant (ii) odisha c. durgapur steel plant (iii) west bengal d. vizag steel plant (iv) andhra
pradesh

) abecdd@) (i) (i) (iv)
2) ab e d (i) (i) (iii) (iv)
3)ab cd (iii) (ii) () (iv)
4)abcd(@v) (i) (i) (i)

fosstifera =t gafaa ffordr @ w9 ((Fafa-1s3) 2. WETEET 3T 647 (i) Seadl|9G b,
forams seaTa I (i) NTIAT ¢. GATYRX SEUTT WA (i) TREH ST d. ATESAT FEATT FA (iv) HTET

geer

1) abecd () (i) (i) (iv)
2) ab cd (i) (i) (iii) (iv)
3) ab ¢ d (iii) (ii) (i) (iv)
4y abcd (iv) (iii) (i) (i)

Ques # :34

the highest peak of peninsular plateau is -
1) mahendra giri

2) anaimudi

3) dodabeta

4) cardamom hills

STRreEdYT Yo Y watew A §
DH%”E\'W

2)313%31—5&

3) Sreer

4) Semar & vgTfSAt

Ques # :35

' el nino ' affecting indian monsoons is a



1) sea storm
2) tropical disturbance
3) warm ocean current
4) a typhoon

HICATT ATTHT Y THIAT FTo1 Tl Il Atell ' 8

Ques # :36

which of the following rivers of india forms an estuary
1) godawari

2) kaveri

3) tapi

4) mahanadi

#Rd Y faraafaf@a # @ Fladt v 7 SarR=eqE T ¢ 2
1) atreredy

2) Y

3) g

4) Fgredr

Ques # :37

aravalli range is an example of -
1) straight mountain

2) block mountain

3) residual mountain

4) volcanic mountain

Il AofY IgEIOTE -
D) e oda

2) el 9dd

3) srafdrse gda

4) SaTeTEY udd



Ques # :38

the highest felspar producing district of rajasthan is:
1) pali

2) tonk

3) ajmer

4) sikar

TSTEYTA FT AT hedIR Icugs g :
1) gy

2) o

3) 3o

4)@7*—{

Ques # :39

national income is equal to -

1) gdp - capital depreciation

2) nnp at factor cost - subsidy + indirect taxes

3) nnp at current prices - subsidy + indirect taxes
4) nnp at current prices - indirect taxes + subsidy

SR T T ¢ -

D) geer o¥e] 3curE - G

2) TTELT AT W UG TSI ScTTead - 3Teeled + IcTET T
3) ATe] PIAAT I g AT ScUTee - 3eJelel + el HT
4) Tre ST TR Y€ WL 3G - THIET X -+ JFeIeTeT

Ques # :40

which of the following statements is true ?

1) when the supply increases, both the price and the quantity will increase.
2) when the supply increases the supply curve shifts towards the left.

3) a shift in the supply curve towards the right results in a fall in the price .
4) when the supply decreases both the price and the quantity will decrease.

ICro kR arr ok i i



D) srar qfet agelt & e 3R AT @t 3 gf gl

2) 3ra qfcf ageh & ar gfet ag aiif 3R faafda g s

3) qfet a5 & EIfRet A Faac & Fereawd HaAd 7 FHr gah |
4) Srer fe el & e e 3 AT el 3 et g

Ques # :41

the output of construction sector in india is estimated by :
1) production method

2) value added method

3) income method

4) commodity flow and expenditure method

R A FARTOT 83 & STEeT T HTHATST ST SATAT & -
D scare= fafar @

2) Fea afia R d

3Ry

%) a¥q yare vd g lafa &

Ques # :42

when goverenment puts ceiling on the price of commodity in such a way that the price is less than
equilibrium price, then

1) there will be excess supply in the market

2) there will be excess demand in the market

3) only high income consumers will benefit

4) producer's surplus will increase

o9 FIHR Y avg Fr Frord 9T 37 ThR WfAer oo & & Frora, s g A @ ar-
D) o # qf o1 srfates grem

2) TR # FfeT 7 31fakes gem

3) Fraer ITT T Tor SURNFATHT Y STH 21T

4) Icqreent &1 31faRe ¢ SRET

Ques # :43

if with a fall in price the demand for same good also falls , it is called-
1) an inferior good



2) a giffin good
3) a luxurious good
4) a veblen good

afy el o g it A A F O F Trr gER AT A A FA AN} AN aFaEq -
D v afearaeg @

2) ve Tt frawq &

3) ve faenf@ar A aeg &

%) va Jeelet ] &

Ques # :44

when marginal utility(mu) of a product falls, then
1) total utililty rises at a decreasing rate

2) total utililty rises at a increasing rate

3) total utility becomes negative

4) total utility approaches zero

o fardt aEq S Wierrea 39Arar ued! § a,
D e so=nferar e ex A g B ¢ |

2) oot ITANA H FeN X A IR A &

3) Tt 3TN FOTeHS T STl & |

#) et 3TANTAAT e Y I TTT BT & |

Ques # :45

what is the level of inflation target with tolerance level of +/- 2 percent fixed by the government of
india for the period 2016-2021 ?

1) 2 percent
2) 5 percent
3) 6 percent
4) 4 percent

HIT TR A 2016-2021 AT & fT Fe=llg T +/- 2 wfaerd & @y Fqg1 Thfa o1 a1 a7
e Rrar e 2

D 2 gfcera

2) 5 fereret

3) 6 wferara



4 4 gfera

Ques # :46

when credit is to be expanded in the economy, the central bank-
1) buys securities in the open market

2) sell securities in the open market

3) increases bank rate

4) increases the cash reserve ratio

T FAHTEAT H W FT [AFAR FIT1 81 Y Fe1 g de-
D) gger aramR # wfastfoat s war |

2) oy aroe 3 SR dmar d

3) dF T FedTY |

4) S I TEaT ¥ |

Ques # :47

banks create credit.

1) on the basis of advances

2) on the basis of their cash deposits
3) on the basis of their total assets
4) on the basis of their securites

I |1 1 oA I -

D) 31fast & 3mr o

2) 319l Aehe; STAT3T & 3TER @

3) 3190 et aREFaTaR & MR
4) 3roetr wfderfa & 3maR W

Ques # :48

what is the share of india's export in total world exports ?
1) 3.0 percent
2) 2.5 percent
3) 1.7 percent
4) 0.6 percent



For 3RaF el 7 s & et &1 sregare e € 2
1) 3.0 wfaera
2) 2.5 wfaera
3) 1.7 ufaera
4) 0.6 wfarera

Ques # :49

government of india has recently taken a decision in principle to privatize a leading public sector
enterprise name it -

1) air india

2) indian oil corporation Itd.
3) coal india Itd

4) gas authority of india Itd.

HRA AIHR A gl &1 A WrdSTiarsh & F T Y@ 3THA & fAsiianor w1 Fgredd: faokr far |
3HFT ATH dd13-

D) vz sfosar

2) 510+ 3o HRARRI afAes

3) et O fafaes

1) 9 A wriietor fafaes

Ques # :50

which of the following has the highest share in total exports from india in 2014-2015 ?
1) rice

2) steel

3) readymade garments

4) gems and jewellery

ot 2014-2015 & #RA & Fel fAdTal & faea & & Rrwepr srgara waifes ar 2
D) araer

Ques # :51



which of the following countries occupies the first place in our import in 2016-2017 ?
1) usa

2) uk.

3) china

4) uae

¥ 2016-2017 A AR IMATAT # Ao ot & & a1 Igen TU1 o1 ?
D) sgeratrea @i

2) .,

3) A

4) Tgerd 3T 3R

Ques # :52

the contribution of service sector in rajasthan net value added at constant prices (2011-2012) for
the year 2016-2017 was about-

1) 35 percent
2) 40 percent
3) 45 percent
4) 50 percent

a¥ 2016-2017 & TSTEYTT H FEYT AT (2011-2012)9 YE HeT HateT F A& T JNITESTeT TN
¥

D) 35 gfaera

2) 40 yfaera

3) 45 gfaera

4) 50 gfarera

Ques # :53

what is 'kisan kaleva yojana' in rajasthan?

1) it provies breakfast to farmer's children in schools.

2) it provides breakfast to senior citizens in villages

3) it provides subsidised food to pregnant women in villages.

4) it provides quality food to farmers at subsidized rates in krishi upaj mandi samities.

TSIEAT H 'fh T Folar AsTar FATE 2
D) g9 Rraret & sroat &1 Tepell 31 ATRdT 3TereY SR ST &




2) =ga airaY & afiss ARG & AT2aT 3TAY HIAT ST
3) S Iidl H arsiaci ARG T 3eferiore $HsTel STt AT STl &
4) gast Y 39 7 AfAfAT 7 fraret @ 3erarfad a3t aurdedr qot siete Sqdey T A Y|

Ques # :54

in the national income accounting deflator is a tool for -
1) adjusting for a change in composition of goods and serices
2) accounting for increase in gnp

3) accounting for decline in gnp.

4) adjusting for changes in price level

TSERT T AT H JaehifaF a8 390 ¢ o wgaFa frarsmar e -
D) a3t it dars Hr &Xaer 7 aiads & gArie &g

2) gnp afraﬁ{w oIET -SET TG %T:Df

3) gnp ﬁmfﬁa:ra'@T-ai'@Twﬁr%gr

4) P TR F IRad= FF AR F &

Ques # :55

main objective of margin requirement under selective credit control is -
1) to prevent speculative hoarding of shares

2) to prevent speculative hoarding of sensitive commodities

3) to prevent bank credit to government sector

4) to provide bank credit on selective basis.

TqATCHS W1 forge=or 7 mfoter freiRor a1 gea 3899 ¥ -
1) Qrert r aeT STATERY &Y Qea]

2) FagsTRfrer TEIHT T HeT STATEIY T e

3) THRY &1 7 o A Y ST & UeheT|

) TGATHS YR W Seh TG ST |

Ques # :56

how many tax rates are prescribed in the goods and services tax system in india?
1) 4
2) 6
3) 5



4y 1

HR H T U9 FaT HT oIl 7 o sl uiRa frag g 2

1) 4
2) 6
3) 5
4) 1
Ques # :57

which of the following four cities are short listed to the developed as smart cities in rajasthan ?
1) jaipur , udaipur , kota, and ajmer

2) jaipur, udaipur, kota and jodhpur

3) jaipur, ajmer, kota and jaisalmer

4) jaisalmer, bikaner, barmer and jalore

fovaer & & T 2t 6 oyt F TATE R & w0 A R fa e o Rfeea rar @2
D ST, 3eaqR , #reT T 3R

2) SR , 3G , YT TG AR

3) ST, AR et 3R SFHerwR

) SR, NI, TSAT 3R Sl

Ques # :58

among the following , what is not related to the traditional perspective of poltical theory ?
1) institutionalism

2) legal formalism

3) linguistic philosophy

4) historicism

fAeifra & ¥, 71 T fas g & RFEREd aRveT § g6frd 78 &2
D) wegmarg

2) Frefett 3troaerararg

3) srerd e geieT

4) giagraare

Ques # :59

which group of thinkers is related to the modern perspecitve of political theory ?



1) t.d. weldon - dunning-habermas

2) david easton -harold lasswell- catlin
3) gabriel almond -leo strauss- sabine
4) mciwain -carlyle -karl popper

ferara! #1 Flaam Togg Tereitfas Rgia & sryfas aRver F @afta d 2
D) &3, derser -sHa-geama

2) 2f3s SEc - e A - Fefad

3) et 3mAE - forY 2T Qarsa

1) AfFedsT Freied-Hel gTa

Ques # :60

which one of the following pair is not correctly matched :-

1) unlimited power resides in a central authority in a state -jean bodin
2) peoples are sovereign authority in a political community - rourseau
3) a determinate authority is a ultimate source of power - austin

4) a sovereign state represents the collective good - karl marx

Rreifiser # & e oo AT A R -

D) oo # 3rehifaa afed v S8 Gear & e el § - shiesier
2) ueh STl THET 3 SToTdl TFI9 el & - T

3) giafRad wrfer , Aaferd &1 3rf@d Sia g € - e

4) v T U Afee R @ afafaftied e - et AR

Ques # :61

term not related to rawls's theory of justice is :-
1) veil fo ignorance

2) original position

3) lexican priority

4) lockean proviso

el F 1Y - Rged § Tl aegraa 81 & :
D) 313111 s el

2) e Feufa

3) fa g

4) dfr g



Ques # :62

among the following , who is not a supporter of positive liberty :
1) rousseau

2) hayek

3) marcuse

4) kant

fAFifra A q, FIT TFRICAS Tadadr FTHASF TG &
1) wat

2) 3o

3) s

4) g

Ques # :63

which one of the following features of the constitution of india is not related to its parliamentaty
system :

1) dual executive

2) time bound elections of lok sabha

3) collective responsibility of council of ministers
4) list system

R & Gfaure & PrifEa a0 & @ F 18T U 3T THAT T & Fafid 7181 & :
D 2ed sriurfere

2) Arerasr & fadetars Ioa

3) FAafve 1 AHRE SeaarAed

4) gl gomelr

Ques # :64

what among the following is not included in the judicial interpretation of article 14:
1) rule of low

2) principle of parliamentary supremacy

3) doctrine of reasonable classification

4) doctrine of natural justice



fosenifre 3 & F1 3T 14 F FARF fdwer F anfAar gt 8
D) hreget o et

2) gy wafeadn & Rghd

3) gfeagerd gefiaor &1 f&ged

1 Xafite =ar7 #1 &Age=d

Ques # :65

consider the following statements:- i. amendment of the constitution is parliament's constituent
power. ii. constitution amendment bill can be introduced in any house of the parliament. iii. if there
is a disagreement between two houses on the constitution amendment bill , joint sitting of the
parliament can be summoned by the president. iv. president can exercise his veto on the
constitution amendment bill. which of the statement'/s given above is/are correct ?

1) i1 and 1v only
2) 1 and 11 only
3) iv only

4) 1 and 111 only

frifhd FY= W AR AT : i. GRAUE F1 T G0 Hr TRrarh afea § | i. TR -
watere Rt wwg & et wee A QU R o ear § | i, TR s Rdes w
e &)l Heal & I FI$ WAL ¢ , Al TSUT THE I HYFA 465 g I HhoT ¢ | iv. AT
-weere farere aX reeufa fAdenfae i 1 9T FX T ¢ | SUEFT H @ FT-A1 F FUT TE o8
)

D) &aerii wa iv
2) hael i UF i
3)Wiv

4) Sherer i U i

Ques # :66

the decision of disqualification of a person for being a member of perliament, on ground other than
defection , is given by :

1) speaker/ chairman

2) president

3) election commission of india

4) the concerned house

ool -9l F HTUR & 3rdmar, frd) S & Tae A Fexgdar & Aear 1 favky Rarsmarg :
D) gy / gemafa



2) qrseufa
3) 9 &1 et 3T
) g "

Ques # :67

in how many states in india , the legislature is bi-camera ?
1)
2)
3)
4)

0 N N W

HRA A forast Tt 7 Ruersise gfa-Aeacns 8 2

1) 5
2) 6
3) 7
4) 8
Ques # :68

find out the incorrect statement -

1) the president of india is elected through the system of proportional representation by means of the
single transferable vote.

2) the president of india is elected by an electoral college consisting of the elected members of both
house of parliament and the legislative assemblies of the states.

3) the members of the delhi-and puducherry legislative assemblies are not the part of electoral college of
the election of the president.

4) the nominated members of both the houses of parliament are not the part of electoral college of the
election of the president.

T HYA DI IgANAT -

D) smeet o arogufa smeynfaes wfafaftrea & vae Hereroier A JoTel GaRT =T ST 3

2) HIR T TSEUT, TS & el Feail g7 T3t i fyerrgsmsit & FaifRd geeat § R o=
foraieren Hs ol S@RT AT ST & |

3) el 3R gy RerTeTaeT & Hea Irsgufay o e FHisel o R gt g1 & |

) FHe & leAt Heslt & AT Afese Teeg Useufa & e & Hdes Asa o1 Rearagigia § |

Ques # :69

who appoints the acting chief justice of supreme court of india-



1) law minister
2) prime minister
3) president

4) cabinet

HRT & 3TIAH AT & FIAATeH TET wArATeer Hf Agfaa wia Fwarg -
1) dhrege o4

2) gemet 7Y

3) qreeafy

4) Hfgae

Ques # :70

vokkaliga -lingayat caste rivalry is related to :-
1) andhra pradesh

2) karnataka

3) tamilnadu

4) kerala

o framere sfaera wfagdefadr &1 a@aer g -
D srgrgeer @

2) hofieah A

3) affereg &

DETCE

Ques # :71

among the following challenges to indian democracy , which one is not related to globalization :
1) de-politicization

2) rollback of welfare state

3) decay of nation -state

4) politics of defection

SIRIer i Y BT o 3 & . herel var Steh spprachor & T 7 -
D) 37 - groeifaeor

2) FeTOTHRY W T FAFST

3) ST T &T

4) Tof-geel T AT




Ques #:72

with which neighbouring country , india has a dispute over kishanganga project?
1) nepal

2) china

3) bangla desh

4) pakistan

e T 3or F Ty R F1 fFereIen sRASET W A § 2
D) Jqrer

2) HreT

3) gigemmeer

4) grfehEdreT

Ques #:73

identify the issue/s, or which india and china have consensus : i. oil escavation by india in vietnam
ii. china's support in developing humbantota iii. climate change iv. popularizing yoga

1) 1 and ii only
2) iii only

3) iii and iv only
4) i and iv only

3T /39 HEV/HR B IgATag, W o e AR e 7 weaAfa 2 : i fagaes F sra qar ae
Ic@ad ii. §aereleT & A & <fier T AU iii. ST AT iv. 1T Y AP AT FATAT

D &aeriwaii

2) &adT iii

3) SrareT iii U iv

4) el i T iv

Ques # :74

consider the following statements regarding 17th summit of nam: i. narendra modi is the first
indian prime minister who has not attended a non aligned movement summit since its inception in
1961. ii. vice president mohammad hamid ansari represented india in this summit

1) only i is correct
2) only ii is correct
3) both 1 and are correct



4) neither 1, nor ii is correct

17 & Fefarder Rraw dee & gay & faraifrd Fy«t ) Rfar A : i Reg A gea s
TUTAAA &, ST 1961 A FHAT AT & Rl efavdar Rray woaes # sultua g gu g | ii.
IWTSeufa Atgrae 1A AR A 57 RNER gFAas # 4R F1 9fafafica B |

D shaer i wér ¥ |

2) 3ot ii T |

3) i ud i gl AET Y|

Dadri, A i T

Ques #:75

identity the group of cities having municipal corporation :-
1) kota - alwar - jodhpur

2) jaipur - jhalawar - bharatpur

3) bikaner - bharatpur - udaipur

4) jodhpur - shri ganganagar - banswara

IR & 37 FHE F TgaiaT, owd IR A
D) arer - 3reraR - SherqR

2) SR -SATATATS-$RAR

3) SIFAT-#RAR-3ETR

4) SeqR-A TR -aTHarsT

Ques # :76

on 20th december 2016 , special gram sabha were organised in all the gram panchayats of
rajasthan to :

1) propagate swachhata mission

2) get approval for smart village

3) get enpanelment for rural skill development scheme
4) make awareness for government schemes

20 RHT, 2016 TIELT 1 Tt I g=mrraY # 9w a7 gam amAfSa fras .
D) Faooar faee & R & o

2) TTE RrersT 1 Jegofer et & for

3) gyraoT Sterer [aehra AT & foIT AT R ol & for

4) EXIY ASTAT3HT & FIT SRR UeT ey & faT




Ques #:77

sociology deals with the study of
1) what should be

2) what should not be

3) what is

4) right or wrong

HHTSTLATET SHF eYAT § rafetd ¢ :
D) a7 et anfew

2) a7 7Y g Tnfew

3)

4) 3fd-agfad

Ques #:78

name the sociologist who is associated with the formal school of thought in sociology?
1) johnson

2) bottomore

3) simmel

4) durkheim

39 HATSTATE T ATH TS, ST AT & TaRIIcHAS TFIGIT & T SATST SATdT 8
D) Steaet

2) SreER

3) Ade

4)@;;[

Ques # :79

sociology is a science because it uses :
1) statistical method

2) comparative method

3) scientific method

4) historical method

AT U A § FfF sud s yarg:



D) gifeggda vgfa &
2) JaeTTeH ugfa &
3) danfare ugfa 1

4) ufaefaes ugfa &

Ques # :80

who is the pioneer to introduce sociology in india ?
1) patrick geddes
2) shyamacharan dube

3) ghurye
4) r.k.mukherji

A & HATTAAT & STeTeh hleT AT AT § 2
D) 9f= g

2) QATATERET g

) gy

4) 3. st

Ques # :81

"society is network of social statuses.'" who believes this
1) linton

2) beirstead

3) spencer

4) k.davis

"HHATS AT TIREATAAT 1 AT § " I8 A fhasr g 2
D foeear
2) §Edrs
3) T
1) &3t

Ques # :82

the model of society which is proponded by herbert spencer ; essentially related.....
1) was structural
2) was functional



3) was conflictist
4) was organicism

gT TATHT EIRT FFAUT FHTS FT ATST HTTRTH T q =
D) daetrenss an

2) GepraicHe AT

3) gerdardy ar

) Fragaardy ar

Ques # :83

who gave the concept of role-set ?
1) davis

2) cooley

3) simmel

4) merton

AT Yot Y Jraeom fFaa & 2
D) g

2) gar

3) feerer

4) m&a

Ques # :84

which of the following is not a part of social structure ?
1) social institution

2) social problem

3) social norms

4) social groups

farafaf@a & ¥ siqar aHfSF T FT T AL 2
D) grenfores gear

2) FrATfoe gaEaT

3) granfores wfaamT

4) grenfores aHg

Ques # :85



who amongst the following is the propounder of cyclical theory of social change?
1) spencer

2) comte

3) marx

4) spengler

o & 9 gfors aRada F Tha Rgia #1 9faures fFas fFan
D eax

2) gt

3)

4) TTeR

Ques # :86

who has given the concept of primary group?
1) bottomore

2) cooley

3) gillin and gillin

4) merton

YA WHG T TR FT TG fhaet AT g ?
D srersr

2)

3) farfort v farfore

) FésT

Ques # :87

who was the propounder of religious theory of origin of caste?
1) maciver and page

2) risley

3) ghurye and majumdar

4) hocart and senart

Sifa Y 3cafed F enfis Rga & yfaues Fla 32

D Aerrgar 3k 9ot
2) fesrar
3)



g 3R AR
4) greré 3 Belre

Ques # :88

w.h. wiser primarily analysed the intercaste relationship in india with reference to ......
1) affinal relation

2) social relation

3) jajmani relation

4) economic relation

3o TH.AT591 A {ET T { HRA A ey geaeul HT faeayor fFa w7 g 2
D darfges geawer

2) QAT GFaeH

3) FSTHEE GFEeY

4) 3T graee

Ques # :89

who is the author of the book " history of caste in india " ?
1) n.k.dutta

2) majumdar and madan

3) herbert risley

4) s.v.ketkar

"REEY 3T FTee 57 3TUSAT " TFAT & AWH FIAE ?
D) v & gear

2) ASTAGR U4 AT

3) g Ratel

4) vg. dr Fdea

Ques # :90

which of the following is not a characteristic of class
1) mobility of groups

2) equal status

3) class-consciousness

4) endogamy



Rl # & Flor ot Farevwar aef # i ret ST 2
D) wrapgt & arforeferar

2) gareT gieufa

3) gat Aqer

) eafdare

Ques # :91

santhanam committee was established for prevention of which social problem-
1) dowry system

2) communal riots

3) aids

4) corruption

YA AR A TU9ar 5T grafos TaEa F VA & v drag
D) agot sarean

2) giverfe &ar

3) s\

4) syeeTa

Ques # :92

which of the following is not considered an indicator of proverty:
1) illiteracy

2) lack of access to health care

3) lack of means of transport

4) lack of job opportunities

foveer & @ lerar el =71 g F7E AT ST
D) arfrer

?) Fareey Har3it o qgd H T

3) Tt & T T 37T

4) QST9TR & 31TERT 71 3731

Ques # :93

which of the following arrangement is correct for social scheme of ashrama system



1) brahamcharya -grahastha- sanyasa- vanyaprastha
2) brahamcharya -grahastha- vanyaprastha-sanyasa
3) grahastha-brahamcharya-vanyaprastha-sanyasa
4) grahastha-vanyaprastha-sanyasa-brahamcharya

forrer TR & Flar 3meeT saaear #1 a8 F -
D) seared-eTeey-weara-arTey
2) AT G- AT -He T
3) EET-TEeATY-ATTEY-F T
4) TEEY-AATE-H AT -TeH T

Ques # :94

who was the first person to study the kinship terminology of different societies systematically ?
1) tylor

2) murdock

3) karve

4) morgan

Rt Tl 1 SGRY ereaTaell &1 GeaaTRe e e aTe T SR Fer o 2
) errerx

2) #Etn

3) &

4) Frde

Ques # :95

" religion is a mode of action , as a system of belief and a sociological phenomenon as well as a
personal experience " this opinion was given by -

1) b.malinowski
2) e.b.tylor

3) kingsley davis
4) majumdar

verat fonar Y v AT § 3tk A € Rrearat Y ven cgawT 8Y, 4ot v ARSI yaeAT g &
|TY Tk e fFcera 37 off § I A A @-
D) &Y. AT

2) & Mo
3)



freger 3w
4) FSFER

Ques # :96

which subject matter of public administration is related with the concept 'posdcorb' ?
1) civil service

2) budget

3) scope

4) importance

'IRESHI JAUROT ol Tt 1 fre o aeg @ arafeua ¥ 2
D) e dar

2) gore

3) &y

4) Fgeca

Ques # :97

who among the following used the term 'public administration' first ?
1) L.d.white

2) hamilton

3) luther gulick

4) woodrow wilson

fassTfa & & fraa & TR 2eg ST FATTH T fhar ?
D) var @) egrée

2) 3o

3) R fes

4) g5 frewst

Ques # :98

"by public administration is meant is common usage the activities of the executive branches of the
national, state and local governments " . who has given the above definition of public
administration ?

1) simon

2) dwight waldo



3) pfiftner
4) marshal dimock

"STTHTENROT Y HTHT & o TermHeT & 3rsfiurr: 33 st @ § Y TS , Uo7 YT TR TR
Y HTAUTTHT ATETHT GART FFUTfee hr SATelt § | oY FerrdeT i suderd TR fhas garr dr arg

Ques # :99

which one of the following statement is correct in relation to the nature of public administration ?
1) public administration is a science

2) public administration is equal to science

3) public administration cannot be science

4) public administration is a social science

T T T YF i & Tt 7 frearfafea & & Fla-wr v FuT e 82
D) orep gema ves faaeT &

2) Sl gRITEeT Ta=iTel o qHeT &

3) Slrep gRmEsT fa=Tet A&7 &Y Hehar

4) S W2ATEeT Teh FTATToTh 193 &

Ques # :100

importance of public administration has increased on account of : ( a ) welfare state (b ) world
wars ( ¢ ) economic planning ( d ) technological advancement select correct code from the following

D (a),(b),(c)
2) (b),(¢c), (d)
3)(a),(c), (d)
4 (a),(b),(c),(d)

foreT FRFT A AT TUTHT FT Ageed 96 TATE ? (a) AN FeATHRI T (b) fRT I (0 ) 31T
forasrer (d ) aweihy gl rafaf@a & & wd Fe w1 aga fifo-

1) (a),(b),(c)
2) (b),(¢c), (d)



3)(a),(c), (d)
4 (a),(b),(c),(d)

Ques #:101

'the period of crisis of identity' of public administration as a discipline has been during :
1) 1927 to 1937
2) 1938 to 1947
3) 1948 to 1970
4) 1971 to 2005

AR TATH F U QYT & T H ' Ig°T T he FIeT ' TET 8-
1) 1927 91937
2) 1938 T 1947
3) 1948 & 1970
4) 1971 ¥ 2005

Ques #:102

the book 'administrative behaviour' has been written by :
1) herbert simon

2) chester barnard

3) fred riggs

4) peter drucker

' rsfafarefes fgfaey (mefas saaer) amrs gFas & @Wiare :
D) ga¢ wrgwer

2) JET TS

3) ths 7w

4)W§W

Ques # :103

according to peter f. drucker the steps of decision making is/are:
1) defining the problem

2) analysing the problem

3) developing alternative solutions

4) all the these



diex .3 F IR ook fawior & avor @ :
1) HHET bl YdT oI IMTedl

2) FHEGT T TILSTOT AT

3) erfouer AT &1 faehre dalr

1) gorat @ geh

Ques # :104

which one among the following elements does not affect morale in positive way ?
1) salary and working conditions

2) lack of mutual cooperation among employnees

3) high level of administrative leadership

4) good system of traning

ffaf@a & @ S99 vF dca ARG F FFRICAS T A TH1fAd T8 FIaT 8 2
1) et qom e gand

2) shefen it & IREIR e 7 3

3) 3 T8 wRafAE Aded

4) gferetor T 3r<dT SaaEAT

Ques # :105

'the carrot and stick approach ' for motivation is related :
1) rewards and penalties system for employees

2) mc gregor's theory x

3) mc gregor's theory y

4) need hierarchy theory of maslow

HFAIROT 3 'R UT B3 TieHIor ' FEafrua ¥
1) sraranfat & forw sa41e qur gus cgaear
2)33\@?1?35[)(@@1?[@

3)mﬂymﬁ

) A€ T ITTThAT ISAITT gea o

Ques # :106

in public administration , important contribution is made in the direction to promote public
participation by the :



1) ministries of government

2) departments of government

3) non-governmental organisations
4) public corporations

ol FeTHeT H ST HNERY Y Wieard e A foem & Hgcaqet Aergrr & &'
D) R & #rer

2) §yehR & faermaT

3) IR - FIreA

) Frdetfere e

Ques #:107

" participation of general masses and their elected representatives is primarily required for
effecitve planning ." this statement is attributed to :

1) third five year plan draft
2) fourth five year plan draft
3) fifth five year plan draft
4) sixth five year plan draft

" g1} RTSIeT & foT 3T ST aUT 39 [AaiRd yiafAfaat Hr ggsnfoar v maf@s
HTGRIHAT § |" Tg FUS AieATad Far g :

D) rady daadty drear ureg &

2) g9 derasiie AT S

3) grardY TaadiT AN a7

4) SO TTaSTT AT I

Ques # :108

the famous book " the civil service in britain and france" on minister civil servant relationship has
been edited by :

1) earl attlee

2) william robson
3) herman finer
4) herald laski

#AA - AFRaF FFa-ul W gHIAd 9g gras " ¢ e afdw so foeer vos i » gearfea

TR
1)



3ol UCall GaRT
2) faforet Aawet ganT
3) EXHA BISR AT

4) T3 AT earT

Ques #:109

hygiene theory is aslo known as :
1) four factor theory

2) two factor theory

3) three factor theory

4) one factor theory

D) aR #re fagia
2) ar wRes fagia

3) et PR &g
) v R g

Ques #:110

who recommonded setting up of lokpal and lokayukta institutions in india from among the
following ?

1) law commission of india
2) first administrative perform commission
3) second administrative reforms commission

4) sarkaria commission

RrrrorTre #F & Rieet T 1 e Ter et STy Eerait o1 werTaen & Gy B 8 2
D) st & fafer amaer

2) g gerafee GUR 3T

3) gfadir gemafae GUr e

4) FXRIRET 3T

Ques #:111

in rajasthan state the post of district collector is assigned to :
1) a generalist administrator



2) a technical administrator
3) an educational administrator
4) a scientific administrator

TSTEYTe T A fSremefier & gg w fAgfFa e
D) ue gra=T= yerae
2) uep qehelieh TRITHe T
3) wer NerfOres wamraes $Hr
4) uep d<TT FATHS

Ques # :112

who among the following in responsible for disaster mitigation and relief measures at the district-
level?

1) member of parliament elected from the district
2) chairman district -council (zilla pramukh)

3) state minister incharge for the district

4) district -collector

frfafl@a & ¥ Fi9 forar T 9T 39T FraRor 997 Ued 39t & fav Scaver & 2
D Gror & @atfRa arae

2) forem aftwe sreaet (e o)
3) I T ToreT THRY 7Y

) foromedrer

Ques #:113

which one among the following is a quasi-judicial function of district - collector in rajasthan ?
1) law and order administration

2) land-revence asministration

3) disaster management

4) development administration

Arafaf@a # @ wla -a1 ve TevuE # Semir F1 3t raRes 9 g 2
D) shrepet va cagEer vamae

2) HTSTET FRIMTH

3) 3T9er ye

4) fyerr gRmHeT




Ques #:114

upanishadic saying ' aham brahmasmi' means
1) brahman is the ego

2) all is brahman

3) brahman is illusion

4) 1 am brahman

3UTAYE & HUA ' HEATEATEA' FTHT -
D) sea 3R &

AT FoTEAL

) sEAaay

DHAGTEAL

Ques #:115

which of the following is not included in vedatrayi
1) rig veda

2) yajur veda

3) atharva veda

4) sam veda

farafafaa & ¥ sl agn # gfFafaa g ¢
D =maag

2) Frepda

3) 3rudag

4) grFEae

Ques # :116

tattvamasi' signifies the relation between
1) prakriti and purusha

2) atman and brahman

3) maya and god

4) chit and achit

daATY GFdey riidr g



D yafar it qew
2) 3reAT 3R SEA I
3) AT 3R $eaT &
1) R iR g @

Ques #:117

which one of the following is not considered of part of vedas:-
1) mantra

2) brahaman

3) purana

4) upanishada

farafaf@a & @ Fa7 3T 7 ooy TR 78t T smar § -
D) g

2) SrEFvT

3) qror

4) 3ufavg

Ques #:118

which one of the following is not acceptable of socrates?
1) knowledge is necessary for virtue

2) knowledge is sufficient for virtue

3) virtues are many

4) virtue can be taught

Rl & & Fr gaua # Fed ad e 2
D) et Tegor & fore amavae &

2) 71T Hepor & forw vaiea §

) s

4) geaor el g

Ques # :119

according to plato , cardinal virtues are
1) temperance , wisdom , courage and justice
2) temperance, courage, justice and love



3) courage, wisdom , friendship and love
4) friendship , love, charity and truthfulness

CRYEN & STHR A W §

D) goa |, a3, arew 3=
2) o, |ed , =g A9
3) g@rew , Adw, A Ak oA

4) 3, 91, g1eT 3 Fegarfean

Ques #:120

'no man does evil voluntarily' - this view is held by
1) plato

2) aristotle

3) socrates

4) protagoras

D) ey &1

2) 3REg

3) gardrel &t

4) QreTerRiRy &

Ques # :121

socratic method is not-
1) dialectical

2) skeptical

3) conversational

4) dogmatic

FHUAT Tgfer gt ¢

Ques # :122



who held, 'man is the measure of all things.'
1) protagoras

2) pythagoras

3) aristotle

4) mill

forerant fareamw ot &, AT woed aeq At FT ATIGUS B "
D dreria

2) qraUreiy

3) areq

4) ey

Ques # :123

pleasure is the supreme end of life' -this view is held by
1) socrates

2) kant

3) bentham

4) plato

GG A ATT FTRA AT & - TG AA© -
D) gaara &

2) FIUe I

3) SeuH FT

4) coreY &1

Ques # :124

kant maintained that 'good will' is
1) uncanditionally good

2) accidentally good

3) relatively good

4) never good

FTUC FY AT & o 17 FFo ' -
D) forpaferes epar @

2) 3T A e
3)



ISR
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Ques #:125

according to which theory of punishment death penalty can not be given-
1) retributive theory

2) reformative theory

3) deterant theory

4) examplary theory

gus & forer RAGTa & eTOR 7Y gUs A} foram oI |eheT
D) yfaehencae fgia

2) guTers: fagid

3) gdarr Agid

4) reTeRoTIeHs fagid

Ques #:126

according to bhagavad geeta 'nishkama karma' means
1) renunciation of action

2) renunciation of the fruits of action

3) renunciation of the desire of fruits of action

4) purposeless activity

HIATACINT F HTUR forseprar Far FT ST
1) &ef &1 cmer
2) 3ol & 791

3) A Bl Y STOT HT T

1) e el

Ques # :127

which one of the following is not included in jain triratnas
1) samyak darshan

2) samyak smriti

3) samyak jnana

4) samyak charitra



St PR A FmafFafaa adi ¢
D) grge g
2) s T
3) grae A
1) g aRF

Ques #:128

buddhist eight fold path does not include
1) sheel

2) prajna

3) bhakti

4) samadhi

atg mrseifars At F afEafaa A€ &
1) ofrer

2) g

3) s

4) garfer

Ques # :129

gandhian ethics supports
1) hedonism

2) utilitarianism

3) purity of means and ends
4) ends justify the means

arefish & Sfemes garr anfia @
) g

2) 3uifArarar

3) gt v greay i afg=Tar

4) gre gt Fr iR ¥

Ques # :130

term 'chittavrittinirodha' is propounded by



1) ashtangik marg
2) jainism

3) gandhi

4) yoga philosophy

Forr gRaferIer T faaree Rear ¥
D) sseifares amet g@rr

2) SieT A gaRT

3) 3t garT

4) et gelet gamT

Ques # :131

social studies is a study of relations and interrelations - historical , geographical and social." this
definition is given by whom?

1) james hemming
2) m.p.moffat

3) michaelis

4) forrester

"HIATTSI® a3 vfagiias , sitnfos aur anfors aFawtl vq 3red: raee) F13reqqT ¢ |" IE
gfemer fFed qarr g g 2

1) 3 e

2) wA Y. AT

3) Arghioa

4) BT

Ques # :132

taxonomy of educational objectives is developed by
1) john dewey

2) b.s. bloom

3) robert mager

4) morrison

e et #1 Fefienor frwas qarr Rwfaa e @ -
D) Siter Sy

2) . vasgH

3)
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Ques #:133

integration of the content of social studies of particular class with content of other subect of the
same class is known as which type of correlation

1) vertical correlation
2) horizontal correlation
3) bilateral correlation
4) co-lateral correlation

forelt et & wrenfore sreager i v - avg &1 346 FaT & 3o vy fr Rwa awg F o
THIHIT F AT TR T TgHFaeY HgaTdl ¢ 2

D) ofr§eer ggasesyr

2) gifarst TEaFeTY

3) gfqufRias Tgareey

4) Il TgHFTH

Ques #:134

project method is important because

1) it enables students to be creative

2) it creates some work for students

3) 'learning by doing ' is more lasting learning
4) it enables teachers to be creative

yrirsre fafer Agecayot & #=ife

D) 71 fyenfeiat ot goterelier aotet & o ot st &
2) o1 Raeanfaiat & fore o e iove e

3) orteh WA 31 TR e gYaT ¥

4) g TRreToht A GoTTeleT Sty oh fordr TeTH SaTTelT &

Ques # :135
which of the following is the most suitable teaching aid to show proportionate size and shape of

continents?
1) poster of the earth



2) political map of the world
3) physical map of the world
4) globe

fovet 3F § wlerel Rrator weras wevelt AgTEEt F IrqAfaE IER v IrFfa B wSRia w F

2) 1399 &7 Uit fae AT
3) eq & HifQsF AT
4) zele

Ques #:136

which one of the following is not a step in morrison's unit approach
1) exploration

2) presentation

3) assimilation

4) application

fafaf@a & @ wlawr v, AT F sFE SURH FTUg AL & 2
D) @it

2) SEeenTT

3) 3Terravor

4) 3regsratar

Ques #:137

black-board can be included in which category of teaching aid ?
1) audio aid

2) visual aid

3) audio-visual aid

4) machine operated device

YTHYT FI RA&TT g+ & FH T A @ AT qFarg ?
D) seg ameret

2) cog-aTyeT

3) sreg-eT AreA

4) Fefet Fanfora e



Ques # :138

which one of the following is not a quality of good teacher?
1) narrow minded

2) industrious

3) high morality

4) initiative

fovet farf@ra & & wlaar sreamas FTaorAd @
D ot af

2) sy

3) ear Afdepar

4) qget FAT

Ques #:139

which one of the following statement is not correct .

1) there is no difference between curriculum and course study
2) curriculum is a cyclic process in education

3) curriculum development is a dynamic process of education
4) curriculum is an impotant factor of educational programme

for F @ o FuT ah AT -

D) areasma 3R 3reaae fawd & 18 3eac A8 §
2) TR1eTT 3 ITSTHH Teh ThIT TTehaT &

3) e faere, fRat ¥ ue arforelier afkar &

4) araarsha, AT FRIHH I Uh Ageca ol FRF § |

Ques # :140

the following are the principles of curriculum construction except
1) conservative

2) flexible

3) child-centred

4) utility

frfaf@a # & fFa & sifafea wsht wreaswa @wTr & Rgia



D) wgrarér

3) Srer-*fegd
4) gfarar

Ques #:141

at the secondary stage , according to ncf 2005, the content of social science draw its content from
which of the following subjects.

1) history , civics and geography

2) history , geography, political science & economics

3) environment science , history, geography & sociology
4) history , disaster management , geography & economics

ATETAF TR I, nef 2005 F TR FTATTSF e o e -avq e & & frer ) o oy -
TFGANAEY -

D) sforgrer , ATeTieR o 31 aqaiter

2) sfaera $Ne , Tt iay faamet 3R 3refenes

3) gaiaRoT f=ireT, $feTa, afeier 31X FATSTET

4) sfagrer , 3MIeT Tawre, saier 31X 3refemes

Ques # :142

which of the following is not a element of teaching unit-
1) previous knowledge

2) motivation

3) closure

4) evaluation

faFsT & @ wiaT 1A8TT 3FH1E FT dca AL & -
1) e

2) srfaom

3) g#Tar

4) Ao

Ques # :143

remedial teaching can be done for



1) children from poor families

2) children from rural background

3) disabled children

4) any student not responding to usual classroom methods

fArafaf@a # 3 Fas v sTarcas faor B s awarg 2
D fareier aRar & sreret & e

2) toT TSI & aTer & foe

3) 31e7# STetehl & foIT

) 15 ofr FRremrelt S T e el wefaat & ufa ufafsar saera 78 wan

Ques # :144

which of the following characteristic is not about objective type testing ?
1) reliability

2) validity

3) objectivity

4) subjectivity

aﬁﬁwmﬂ?ﬁm#rﬁmﬁmﬁ#mﬁamﬂﬁ%?
D) feg@strar

2) deyar

3) gEqfarssar

1) gfFafersaan

Ques # :145

diagnostic testing in social science will help a teacher to understand
1) learning difficulties a student is facing in social science

2) the part of the topic the student has not memorised

3) how revision work has helped students

4) how intelligent students are

D) 31Ty srfs=ATsat SieTeht Teh faemelt amnioie e & aresr s g |
2) YehIuT T dg T St et are; 7gt X Tt

3) TeRrafa 1 R TR 38e faemediia 6 weradr T &

4) 3 Tarcarelt Rvciey afamer



Ques # :146

summative evaluation is inappropriate for the following
1) deciding upon the grade

2) monitoring the progress of teaching -learning process

3) end of the term evaluation

4) summarizing student learning

ARNTeHS Hediche Pt & T 3eTaged § -
1) 3rs &1 freior s

2) FR18TOT 3TRTH YTHaT & ST YITTd &1 3Teholel
3) g9 % 31d H FHedlehel el

4) et & 31T T ARTNHIOT AT

Ques # :147

which of the following is not step of brain storming?
1) ice breaker

2) statement of problem

3) attention on problem

4) formulation of hypothesis

fArafaf@a & ¥ slsar aftass sccaaa FT AT AL 7 2
D feawsisrw

2) FAEIT FT GRATEOT

3) HAEIT W gl

1) gReregsT fAAToT

Ques # :148

' teacher is the soul of school' this statement is given by whom?
1) h.g.wells

2) john adams

3) binning & binning

4) t.p.nunn

"fRraToT faeATerT Y ATCAT 8" I FU frwet fear g 2
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2) SiteT USHE

3) arafaier ve AT
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Ques # :149

out of the following which is not a qualitative test
1) cumulative record

2) anecdotal record

3) observation

4) written examination

fawaifra & @ Flerar oncas adiaror 7¢ 82
D) gy 3mrore

2) TSI T

3) srgeiereT

1) faf@a gt

Ques #:150

who is the exponent of action research
1) kurt lewin

2) robinson

3) stephen m. corey

4) john w. best

fraTcHe T & Jads FlT ¢ 2
D &¢ afa

2) AT
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